=
<
N

102 ~
5 10 5
= 8
< ©
© : 3 5
© : |
107°F 102
108 SN I S| U S |
3 3t E
o 1] o L |
L e R R R R SEEREEEE % SRR SRR EEELEREEFEERERES
0.5 ; : ; ; ; C : : . :
: . : : : 0.95k : : : : :
-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—1
£ = 10
S A
) =
s o
=t S
107 1072
o105 o107
T T 1
@ 3 04
o.9F 0.9
O.S: H I i i H O.S- H I i h H
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

BT 0 12 3
TP n (PCA to beamline)



	Contents
	Page 1


